Addition Facts (A)

Find each sum.

6-+2 = 5+42= 942 = 242=
442 = 2+8= 243 = 247 =
142= 245= 442 = 94+2=
142 = 342 = 242 = 246=
T4+2= 8+2= 242 = 342 =
2+41= 245= 247 = 442 =
6-+2 = 942 = 2+8= 54+2=
248= 142 = 24+6= 242 =
24+9= 342 = 24+4= 74+2=
942 = 2+41= 8+2= 242=
4472 = 24+6= 245= 247 =
342 = 247 = 242 = 244 =
942 = 2+8= 24+1= 24+5=
243 = 6-+2 = 142= 249 =
246= 342 = 244 = 24+8=
742 = 242 = 542= 242=
142= 24+4= 243 = 245=
742 = 248= 942 = 246=
54+2= 242 = 244 = 6+2=
243= 742 = 249= 248=
142= 241= 247 = 6+2=
249 = 242 = 5+42= 243 =
4472 = 2+8= 243 = 242=
249= 24+8= 24+6= 442 =
241= 5+42= 742 = 242=
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Addition Facts (A) Answers

6+2=8
442-6
14+2=3
14+2=3
7+4+2=9
24+1=3
6+2=8
248=-10
249-11
9+2=-11
442-6
342=5
9+2-11
2+3-5
2+6=8
742=9
14+2=3
742=9
5+2-7
2+3-5
14+2=3
2+9-11
4+42-6
2+9-11
2+1=3

5+2-7
2+8=10
2+4+5=7
3+4+2-5
8+2=10
2+5-=7
9+4+2-11
142=3
3+4+2-5
24+1=3
2+6-8
2+47=9
2+8=10
6-+2-8
3+4+2-5
24+2-4
2+4+4-6
2+8=10
2+4+2-4
74+2=9
2+1=3
24+2-4
2+8=10
2+8=10
5+2-7

Find each sum.

9+2=-11
2+3=5
4+42-6
2+2-4
2+2-4
2+7=9
2+8=10
2+6=8
2+4-6
8+2=10
2+5=7
2+2-4
2+1=3
1+2=3
2+4-6
5+2=7
2+3=5
9+2=-11
2+4-6
2+49=11
2+7=9
5+2-=7
2+3=5
2+6=8
7+2=9

2+2=4
2+7=9
9+2=11
2+6=8
34+2=5
442-6
5+42=7
2+2-4
7+2=9
2+2-4
2+7=9
2+4-6
2+5=7
24911
2+8=10
2+2-4
2+5=7
2+6=8
6+2=8
2+8=10
6+2=8
2+3=5
2+2=4
442-6
2+2=4
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Addition Facts (B)

Find each sum.

9+2= 1+2= 2+5= 244 =
247 = 342 = 24+6= 842 =
9+2 = 6+2= 442 = 342 =
2+8= 2+7 = 2+1= 242 =
5+2= 8+2 = 2+1= 342 =
249 = 242 = 442 = 247 =
2+5= 6+2= 2+49= 742 =
8+2 = 2+6= 3+2= 244 =
242 = 24+1= 542 = T+2 =
2+4= 2+6= 2+2= 1+2=
245= 8+2 = 243 = O+2=
244 = 0+2= 242 = 142 =
8+2 = 243 = 742 = 6+2 =
5+42= 2+3= 8+2 = 242 =
24+1= 4+2 = T+2 = 6+2=
5+42= 2+9= 24+2= 244 =
8+2 = 2+6= 243 = 2+5=
T+2= 0+2= 24+1= 342 =
6+2= 1+2= 8+2 = 742 =
2+4= 2+9= 2+2= 2+5=
247 = 8+2 = 3+2= 2+5=
249 = 2+1= 2+6= 242 =
2+4= 34+2= 2+8= 2+5=
9+2 = 2+6= 2+1= 242 =
247 = 2+4 = 247 = 2+8=
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Addition Facts (B) Answers

9+2=11
2+7=9
9+2=11
2+8=10
5+42=7
2+9=11
2+5=7
8+2=10
2+2=4
2+4-6
2+5=7
2+4-6
8+2=10
5+42=7
2+1=3
5+42=7
8+2=10
7+42=9
6+2=8
2+4-6
2+7=9
2+49=11
2+4=6
9+2=11
2+7=9

14+2-3
3+2-5
6+2-8
2+7=9
8+2=10
2+2-4
6+2-8
2+6=8
2+41-=3
2+6=8
8+2=10
9+2-11
2+3=5
2+43=5
442-6
2+9-11
2+6=-8
9+2-11
14+2-=3
2+9-11
8+2=10
24+1=3
3+2-5
2+6=8
2+4-6

Find each sum.

24+5=7
2+6-8
442-6
2+4+1-=3
24+1=3
442-6
24+9-11
34+2-5
5+2-7
24+2-4
2+3-5
2+4+2-4
74+2-9
8+2=10
74+2-9
2+4+2-4
2+4+3-5
24+1=3
8+2-10
2+4+2-4
34+2-5
2+4+6-8
2+8=10
2+1=3
2+47=9

24+4-6
8+2=10
3+2-5
242-4
3+2-5
247=9
742-9
2+4-6
74+2-9
14+2=3
9+2-11
14+2=3
6-+2-38
242-4
6-+2-38
2+4-6
24+5=7
3+2-5
74+2-9
2+45-=7
24+5=7
2+42-4
24+5=7
242-4
2+8-10
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Addition Facts (C)

Find each sum.

1+2= 24+4= 245 = 2+3=
242 = 6+2= 9+2= 8+2=
242 = 4+2 = 243 = 2+1=
94+2 = 542= 246= T4+2 =
243 = 24+4= 249 = 242 =
642 = 1+2= 542 = T+2=
2+8= 2+4= 2+1= 6+2=
2+8= 2+7= 542 = 9+2=
242 = 243 = 24+1= 942 =
3+2= 542 = T+2= 2+8=
24+6= 242 = 2+4 = 242 =
2+4 = 542 = 24+7= 642 =
243 = 1+2= 842 = 249 =
642 = 2+2= 2+3= 8+2 =
249 = 4+2 = 1+2= 5+2=
24+7= 246= 245= 1+2=
T+2 = 842 = 4+2 = 249 =
24+2= 342 = 24+3= 247 =
94+2= 24+4= 242 = 54+2=
2+8= 642 = 24+1= 3+2=
244 = 24+5= 249 = 247 =
642 = 2+8= 1+2= 2+2=
249 = 24+1= 244 = 2+8=
245= 24+2= 34+2= 246 =
T+2 = T+2 = 542 = 3+2=
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Addition Facts (C) Answers

14+2=3
24+2-4
2+4+2-4
9+2-11
2+4+3-5
6+2=8
2+8-10
2+8-10
2+4+2-4
34+2-5
2+6-=38
2+4-6
2+43-5
6+2-8
2+4+9-11
2+4+7=9
7+42=9
2+4+2-4
9+2-11
2+8-10
2+4-6
6+2-8
2+49-11
2+45=7
7+4+2=9

2+4-6
6+2=8
442-6
5+42-7
2+4-6
14+2-=3
2+4=6
2+4+7=9
2+43=5
5+42=7
2+2-4
5+42-=7
14+2-=3
2+2-4
442-6
2+6=8
8+2=10
3+2=-5
2+4=-6
6+2=8
2+45=7
2+8=10
2+41-=3
2+2-4
7+42-9

Find each sum.

24+5=7
94+2-11
2+3-5
2+6-8
24+9-11
5+4+2-7
2+1=3
5+4+2-7
2+4+1-=3
74+2-9
2+4-6
247=9
8+2-10
243=5
142=3
2+4+5-=7
442-6
243=5
24+2-4
24+1=3
24+9-11
142=3
2+4-6
34+2-5
542-7

2+4+3=5
8+2-10
24+1=3
74+2-9
24+2-4
74+2-9
6-+2-8
94+2-11
94+2-11
24+8=10
24+2-4
6-+2-8
24+9-11
8+2-10
5+2-7
14+2=3
24+9-11
247=9
5+2-7
3+2-5
2+47=9
2+2-4
2+8=10
2+6=8
3+2-5
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Addition Facts (D)

Find each sum.

2+8= 2+4= 2+9= 2+1=
2+6= 2+2= 5+2= 7+2=
2+9= 442 = 2+6= 2+1=
2+8= 2+2= 34+2= 442 =
2+3= 2+9= 247 = 2+5=
2+2= 2+6= 842 = 2+1=
2+8= 9+2 = 2+7= 2+3=
2+2= 5+2= 1+2= 2+4=
2+6= 2+4= 9+2= 6+2=
2+3= 2+5= 2+8= 2+1=
242 = 2+7 = 5+2= 9+2=
2+2= 2+4= 2+3= 2+1=
2+7 = 2+8= 2+6= 9+2=
2+5= 8+2= 2+7 = 2+2=
2+3= 2+1= 6+2= 2+4=
2+8= 9+2= 2+6= 1+2=
242 = 2+3= 2+4= 7+2=
5+42= 1+2= 2+6= 8+2 =
342 = 442 = 242 = 2+9=
5+42= 2+7 = 2+8= 2+6=
14+2= 7+2= 442 = 9+2 =
342= 2+2= 2+5= 1 +2=
842 = 2+7 = 2+3= 2+4=
2+2= 2+6= 5+2= 9+2=
242 = 7+2= 2+46= 2+5=
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Addition Facts (D) Answers

2+8=10
2+46=8
2+49-11
2+8=10
2+3=5
2+42-4
2+8=10
2+42-4
2+6=8
2+43=5
2+42-4
2+42-4
2+47=9
2+45=7
2+3=5
2+8=10
2+42-4
542=7
3+2=5
542=7
14+2=3
3+2=5
8+2=10
2+42-4
2+42=4

2+4-6
2+2-4
442-6
2+2-4
2+4+9-11
2+6=-8
9+2-11
5+2=7
2+4-6
2+5=7
2+7=9
2+4-6
2+8-10
8+2=10
2+1=3
9+2-11
2+3=5
14+2-3
442-6
2+7=9
7+42=9
2+2-4
2+7=9
2+6=-8
7+42=9

Find each sum.

24+9-11
5+4+2-7
2+6-8
34+2-5
24+7-=9
8+2=10
24+7=9
142=3
94+2-11
24+8=10
5+4+2-7
243-5
2+6-8
247=9
6-+2-8
2+6=8
2+4-6
2+6=8
24+2-4
24+8=10
442-6
2+4+5-=7
2+4+3=5
5+4+2-7
2+6=8

2+1=3
74+2-9
24+1=3
442-6
24+5=7
2+1=3
2+4+3=5
2+4-6
6-+2-8
2+1=3
9+4+2-11
24+1=3
9+4+2-11
242-4
2+4-6
14+2-3
742-9
8+2-10
2+49-11
2+4+6-8
9+4+2-11
14+2=3
2+4-6
94+2-11
24+5=7
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Addition Facts (E)

Find each sum.

9+2 = 2+3= 244 = 842 =
2+1= 9+2= 2+8= 5+42=
2+1= 2+4= 242 = 3+2=
7+2= 2+6= 2+3= 7+2=
2+5= 9+2 = 8+2 = 442 =
242 = 2+6= 1+2= 2+8=
2+1= 2+2= 5+2= 2+9=
2+4= 342 = 742 = 2+6=
3+2= 442 = 5+2= 2+1=
6+2= 8+2 = 7+2= 242 =
9+2 = T+2= 5+2= 242 =
2+1= 442= 8+2 = 2+6=
2+9= 2+3= 243 = 2+1=
242 = 9+2 = 2+7 = 6+2=
2+5= 442 = 8+2 = 2+6=
2+7 = 442 = 9+2 = 8+2 =
2+2= 5+2= 3+2= 2+1=
7+2= 2+6= 2+9= 842 =
2+1= 2+5= 2+4= 242 =
2+3= 2+4= 1+2= 2+3=
T+2= 2+2= 6+2= 2+9=
2+8= 2+5= 2+3= 1+2=
442 = T+2= 242 = 2+9=
2+8= 2+5= 2+6= 2+4=
3+2= 6+2= 2+7 = 2+5=
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Addition Facts (E) Answers

9+2-11
2+1=3
2+1=3
74+2-9
2+4+5=7
2+2-4
2+1=3
2+4-6
3+2-5
6-+2-8
9+4+2-11
2+1=3
2+4+9-11
2+2-4
2+4+5=7
247=9
24+2-4
74+2=9
2+1=3
2+43=5
742-9
2+8=10
442-6
2+8=10
3+2-5

2+43=5
9+2-11
2+4-6
2+6=8
9+2-11
2+6=8
2+2-4
3+2=-5
442-6
8+2=10
7+42-9
442-6
2+43=5
9+2-11
442-6
442-6
5+42-=7
2+6=8
2+45=7
2+4-6
2+2-4
2+45=7
7+42-9
2+45=7
6+2=8

Find each sum.

24+4-6
2+8-10
2+4+2-4
2+3-5
8+2=10
14+2=3
5+2-7
74+2-9
5+4+2-7
74+2-9
5+4+2-7
8+2=10
2+4+3-5
247-9
8+2=10
94+2-11
34+2-5
249-11
2+4-6
14+2=3
6-+2-8
2+43-5
2+4+2-4
24+6=8
2+47=9

8+2-10
5+2-7
3+2-5
74+2-9
442-6
2+8=10
24+9-11
2+4+6-8
24+1=3
2+42-4
2+42-4
24+6=8
24+1=3
6-+2-8
2+6-38
8+2=10
24+1=3
8+2=10
242-4
2+43-5
24+9-11
14+2=3
24+9-11
2+4-6
24+5=7
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Addition Facts (F)

Find each sum.

24+9= 1+2= 242 = 8+2=
2+1= 2+3= 842 = 642 =
24+5= 247 = 4+2 = 2+2=
9+2= 2+7= 6+2= 1+2=
248 = 34+2= 9+2= 2+4=
542= 2+2= 642 = 2+9=
T+2 = 842 = 242 = 442 =
3+2= 2+1= 542 = 14+2=
24+5= 24+4= 642 = 248 =
24+2= 3+2= T+2= 2+9=
24+1= 842 = 3+2= 249 =
242 = 24+7= 642 = 542=
4+2 = 24+6= 4+2 = 242 =
2+9= 24+7= 2+8= 542=
1+2= 34+2= 248 = 242 =
24+9= 24+6= 243 = T+2=
542= 1+2= 4+2 = 442 =
642 = 24+3= 1+2= T+2=
249 = 542= 242 = 8+2=
8+2 = 14+2= 542 = 2+7=
342 = 24+6= 4+2 = 942 =
24+2= T+2= 1+2= 2+2=
248 = 4+2 = 94+2= 642 =
2+3= 24+5= 2+4= 642 =
1+2= 249 = 242 = 24+5=
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Addition Facts (F) Answers

2+49-11
2+1=3
245=7
9+2-11
2+8-10
5+4+2=7
742-9
3+2=-5
2+45=7
2+4+2-4
2+4+1-=3
2+4+2-4
442-6
2+49-11
14+2-=3
2+49-11
5+42=7
6+2=8
2+49-11
8+2=10
3+2=5
2+42-4
2+8-10
2+43=5
14+2-=3

14+2-3
2+3=5
2+7=9
2+7=9
3+2=5
2+2-4
8+2=10
2+1=3
2+4-6
3+2-5
8+2=10
2+7=9
2+6=8
2+7=9
3+2=5
2+6=-8
14+2-3
2+3=5
5+2=7
14+2-3
2+6=8
7+42=9
442-6
2+5=7
2+9-11

Find each sum.

24+2-4
8+2=10
442-6
6+2-8
9+2-11
6-+2-8
24+2-4
5+4+2-7
6-+2-8
74+2-9
34+2-5
6-+2-8
442-6
2+8=10
2+8=10
24+3-5
442-6
142=3
24+2-4
5+4+2-7
442-6
142=3
9+2-11
24+4-6
24+2-4

8+2=10
6-+2-8
242-4
14+2=3
24+4-6
249-11
442-6
14+2=3
2+8=10
249-11
2+49-11
5+2-7
242-4
5+2-7
242-4
74+2-9
442-6
74+2-9
8+2=10
2+47=9
9+4+2-11
242-4
6-+2-8
6+2-8
24+5=7
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Addition Facts (G)

Find each sum.

T+2= 3+2= 2+8= 2+7 =
5+2= 8+2 = 2+3= 242 =
442 = 2+6= 2+1= 2+9=
2+4= 243 = 2+5= 7+2=
842 = 9+2 = 2+1= 2+6=
2+2= 2+6= 8+2 = 2+1=
2+9= 2+2= 244 = 2+3=
2+5= 2+7 = 9+2 = 7+2=
442 = 2+6= 242 = 2+5=
2+8= 1+2= 3+2= 2+1=
9+2 = T+2= 5+2= 242 =
2+3= 2+8= 6+2= 2+4=
6+2= 442 = 242 = 9+2=
3+2= 2+8= 2+1= 5+42=
2+7 = 5+2= 442 = 2+7 =
8+2 = 2+9= 2+2= 1+2=
2+6= 2+3= 243 = 2+5=
9+2 = 6+2= 1+2= 2+4=
2+8= T+2= 242 = 2+4=
2+1= 2+5= 2+3= 7+2=
2+9= 2+2= 2+8= 2+6=
1+2= 2+6= 24+2= 8+2 =
9+2 = 2+4= 3+2= 2+5=
7+2= 2+8= 6+2= 242 =
9+2 = 2+7= 2+4= 2+1=
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Addition Facts (G) Answers

7+2-9
5+2-7
4+42-6
2+4-6
8+2=10
2+2-4
2+9-11
2+5-7
4+42-6
2+8-10
9+2-11
2+3=5
6+2=8
34+2-5
2+7=9
8+2=10
2+6-=8
9+2-11
2+8=10
2+1=3
2+9-11
14+2-3
9+2=-11
7+4+2-9
9+2-11

34+2=5
8+4+2=10
24+6=38
243=5
94+2=11
24+6=8
24+2=4
24+7=9
24+6=38
1+2=3
T+2=9
24+8=10
4+2=6
24+8=10
542=7
24+9=11
2+3=5
64+2=8
T+2=9
245=7
24+2=4
24+6=8
24+4=6
24+8=10
24+7=9

Find each sum.

2+8=10
2+43-5
24+1=3
2+4+5-7
24+1=3
8+2=10
24+4-6
9+2-11
24+2-4
34+2-5
5+4+2-7
6-+2-8
24+2-4
24+1=3
442-6
24+2-4
2+4+3-5
142=3
24+2-4
243-5
2+8-10
24+2-4
34+2-5
6-+2-8
2+4-6

2+4+7=9
2+4+2-4
2+49-11
74+2-9
2+6-8
2+4+1-=3
2+4+3=5
74+2-9
2+45=7
2+4+1-=3
2+42-4
2+4-6
9+4+2-11
5+4+2-7
2+4+7=9
14+2=3
2+45=7
2+4-6
2+4-6
7+4+2-9
2+6-8
8+2-10
2+45=7
242-4
2+4+1-=3
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Addition Facts (H)

Find each sum.

24+3= 542= 24+9= 542=
248 = 242 = 342 = 642 =
247 = 4+2 = 1+2= T+2 =
2+8= 2+2= 2+4= 2+9=
342 = 54+42= 1+2= 24+6=
2+7= 642 = 1+2= 542=
244 = 24+9= 2+8= 3+2=
24+2= 3+2= 1+2= 642 =
247 = 4+2 = 242 = 249 =
2+8= 542 = 9+2= 2+8=
T+2 = 243 = 242 = 24+5=
2+1= 4+2= 246= 2+1=
24+5= 249 = 2+8= 2+4=
2+2= T+2= 642 = 2+3=
T+2 = 1+2= 24+5= 3+2=
9+2= 2+2= 246= 8+2 =
4+2 = 24+5= 4+2 = 14+2=
2+9= 2+8= 3+2= 642 =
242 = 247 = 247 = 2+8=
24+2= 642 = 24+9= 24+5=
34+2= 4+2 = 14+2= 642 =
2+9= 842 = 4+2 = T+2=
243 = 242 = 24+5= 14+2=
T+2= 2+3= 642 = 9+2=
248 = 4+2 = 542 = 242 =
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Addition Facts (H) Answers

2+3=5
2+8=10
2+7=9
2+8=10
342-=5
24+7=9
2+4=6
2+2=4
2+7=9
2+8=10
7+2=9
2+1=3
2+5=7
2+2=4
7+2=9
9+2=11
4426
2+49=11
2+2=4
2+2=4
342=5
2+49=11
2+3=5
7+2=9
2+8=10

5+2=7
2+2-4
442-6
2+2-4
5+2=7
6+2-8
2+9-11
3+2-5
442-6
5+2=7
2+3=5
442-6
2+9-11
7+42=9
14+2-3
2+2-4
2+5=7
2+8-10
2+7=-9
6+2-8
442-6
8+2=10
2+2-4
2+3=5
442-6

Find each sum.

249-11
3+2=5
1+2=3
2+4-6
1+2=3
1+2=3
2+8=10
1+2=3
2+2=4
9+2=-11
2+2=4
2+6=8
2+8=10
6+2=8
2+5=7
2+6=8
4426
3+2=5
2+7=9
2+49=11
1+2=3
442-6
2+5=7
6+2=8
5+2=7

542=7
6+2=8
74+2=9
24+9=11
24+6=38
542=7
3+2=5
6+2=8
24+9=11
24+8=10
24+5=7
24+1=3
2+4=06
243=5
34+2=5
8+4+2=10
14+2=3
6+2=8
24+8=10
245=7
6+2=8
74+2=9
14+2=3
94+2=11
24+2=4
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Addition Facts (I)

Find each sum.

1+2= 247 = 248 = 14+2=
542= 6+2= 4+2 = 2+9=
34+2= 242 = 4+2 = 3+2=
2+9= 2+7= 8+2 = 246 =
542= 24+1= 242 = 642 =
2+1= 3+2= 24+9= 2+2=
24+5= 248 = 2+4 = 247 =
3+2= 1+2= 246= 8+2 =
247 = 24+5= 249 = 442 =
24+2= 2+2= 3+2= 2+1=
244 = 842 = 9+2= 5+2=
T+2= 642 = 642 = 24+5=
249 = 4+2 = 842 = 242 =
14+2= 34+2= T+2= 2+3=
T+2 = 542= 242 = 24+6=
24+1= 842 = 24+9= 442 =
24+1= 94+2= 642 = 8+2=
T+2= 4+2 = 3+2= 24+5=
242 = 24+1= 342 = 248 =
247 = 249 = 642 = 2+2=
244 = 542= 24+5= 24+1=
24+4= 94+2= 24+3= 2+8=
64+2= 242 = 247 = 247 =
94+2= 24+8= 2+1= 2+3=
242 = 542= 24+4= 246 =
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Addition Facts (I) Answers

14+2=3
5+42=7
3+2=5
2+49=11
5+42=7
2+1=3
2+5=7
3+2=5
2+7=9
2+2=4
2+4=6
7+2=9
2+49-11
14+2=3
7+2=9
2+1=3
2+1=3
7+2=9
2+2=4
2+7=9
2+4=6
2+4=6
6+2=8
9+2-11
2+2=4

247=9
6+2=8
242-4
247=9
241=3
3425
24+8=10
1+2-=3
245=7
242-4
8+2=10
6+2=8
4+42-6
3425
542=7
8+2=10
94+2-11
4+42-6
241=3
249=11
542=7
94+2-11
242-4
24+8=10
542=7

Find each sum.

24+8=10
442-6
442-6
8+2-10
24+2-4
24+9-11
24+4-6
2+6=8
24+9-11
34+2-5
94+2-11
6-+2-8
8+2-10
74+2-9
24+2-4
24+9=-11
6-+2-8
34+2-5
34+2-5
6-+2-8
2+4+5=7
2+43=5
2+47=9
24+1=3
2+4-6

14+2=3
24+9-11
34+2-5
2+4+6=8
6+2=8
242-4
2+4+7=9
8+2=10
442-6
24+1-=3
5+4+2-7
2+45-7
242-4
2+43-5
2+6-8
442-6
8+2-10
2+45-=7
2+8=10
242-4
2+4+1-=3
2+8=10
2+4+7=9
2+43-5
2+6-8
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Addition Facts (J)

Find each sum.

24+1= 245 = 2+8= T+2=
244 = 3+2= 2+9= 2+2=
6+2= 6+2= 4+2 = 14+2=
8+2 = 542= 247 = 34+2=
94+2= 242 = 4+2 = 642 =
3+2= 9+2= 2+1= 8+2 =
247 = 24+5= 242 = T+2=
2+9= 2+1= 3+2= 246 =
248 = 24+4= 54+42= 2+2=
542= 24+8= 24+4= 242 =
1+2= 243 = 247 = 24+9=
642 = 9+2= 245= 1+2=
242 = 4+2 = 842 = 642 =
2+3= 24+7= 3+2= 2+1=
244 = 24+5= 242 = 249 =
8+2 = 642 = 24+7= 2+1=
242 = 4+2 = 249 = 2+8=
246 = 3+2= 245 = T+2=
4+2 = 24+6= 3+2= 14+2=
2+9= T+2= 542 = 2+2=
8+2 = 24+6= 24+1= 242 =
2+4= 24+3= 249 = T+2=
8+2 = 54+42= T4+2= 249 =
24+5= 2+4= 642 = 8+2 =
242 = 1+2= 243 = 247 =
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Addition Facts (J) Answers

2+1-=3
2+4-6
6+2=8
8+2=10
9+2-11
3+2=-5
2+47=9
2+49-11
2+8-10
5+42=7
14+2-=3
6+2=8
2+4+2-4
2+43=5
2+4-6
8+2=10
2+4+2-4
2+46=8
442-6
2+49-11
8+2=10
2+4-6
8+2=10
245=7
2+4+2-4

2+4+5=7
3+4+2-5
6-+2-8
5+4+2-7
2+4+2-4
94+2-11
2+4+5=7
2+1=3
2+4+4-6
2+8-10
2+4+3-5
9+2-11
442-6
2+7-=9
2+4+5=7
6-+2-8
442-6
3+2-5
2+6=8
74+2=9
2+6=38
2+4+3-5
5+2-7
2+4-6
142=3

Find each sum.

2+8=10
2+9-11
4+42-6
2+7-9
4+42-6
24+1=3
2+2-4
342=5
5+2=7
2+4-6
2+7=9
2+5-7
§+2=10
342=5
2+2-4
2+7-9
2+9-11
2+5-7
3+2-5
5+2=7
2+1=3
24+9-11
7+2-9
6+2=8
2+3=5

7+2=9
2+2=4
1+2=3
342=5
6+2=8
8+2=10
7+2=9
2+6=8
2+2=4
2+2=4
2+49=11
1 +2=3
6+2=8
2+1=3
2+49=11
2+1=3
2+8=10
7+2=9
1+2=3
2+2=4
2+2=4
7+2=9
2+49=11
8+2=10
2+7=9
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